

WELLINGTON POINT STATE HIGH SCHOOL Year 7 Stationery List 2026

PARENT INFORMATION SHEET

PLEASE RETURN YOUR ORDERS TO BIRKDALE NEWS BY MONDAY, 12 JANUARY 2026

TO GUARANTEE DELIVERY OR PICK UP BY THE DATES BELOW.

LATE ORDERS WILL BE ACCEPTED, HOWEVER THEY WILL BE READY AT LATER DATES PLEASE COMPLETE ALL DETAILS CLEARLY, IN FULL, USING BLOCK LETTERS

HOW TO ORDER

OPTION 1: Complete the Order Form

Complete the Order Form and deliver to Birkdale News.

Keep the second copy for your records.

Payment Options are: Credit Card, EFTPOS, or Cash Only

OPTION 2: Internet Ordering

Payment Option: Credit Card Only to be paid when order is put in. No later payments

Online Ordering Instructions

- 1 Open your Internet Browser and go to: www.birkdalenews.com.au
- 2 Click on how to order tab and follow the instructions
- 3 Confirm order, Click continue to Payment. Click Submit order
- 4 Pay with Paypal account or click Pay with a credit or debit card
- 5 Click back to Birkdale news, check email for order and payment confirmation.

HOW TO PAY

Credit Card, Bank Cheque Accepted No Personal Cheques

Please make all Bank Cheques payable to Birkdale News

*WHEN CHOOSING THE DELIVERY ADDRESS, PLEASE CONSIDER THE PARCEL MUST BE SIGNED FOR.

*ALL DELIVERIES WILL BE COMPLETED BY 17 JANUARY 2026 IF SUBMITTED BY THE DUE DATE.

COLLECTION OF STATIONERY PACK

* STATIONERY PACKS WILL BE AVAILABLE FOR COLLECTION FROM BIRKDALE NEWS WHEN TEXTED

ALL BOOKPACKS MUST BE PREPAID

PLEASE DIRECT ALL ENQUIRIES TO BIRKDALE NEWS - PHONE 3207 3005



WELLINGTON POINT STATE HIGH SCHOOL

RETURN WITH ORDER

PLEASE RETURN YOUR ORDERS TO BIRKDALE NEWS BY MONDAY, 12 JANUARY 2026

TO GUARANTEE DELIVERY OR PICK UP BY THE DATES BELOW.

LATE ORDERS WILL BE ACCEPTED, HOWEVER THEY WILL BE READY AT LATER DATES

ONLY RETURN THIS COPY TO BIRKDALE NEWS IF USING PAPER ORDER FORM (NOT IF YOU ARE USING THE INTERNET ORDERING OPTION).

PLEASE RETURN WITH PAYMENT DETAILS COMPLETED AND PAY WHEN ORDER FORM IS GIVEN

STUDENT'S NAME:	ВОҮ	GIRL					
If you have other students at Wellington Point High School or Birkdale State School please list							
2nd STUDENT'S NAME:							
YEAR LEVEL:							
3rd STUDENT'S NAME:							
YEAR LEVEL:							
4th STUDENT'S NAME:							
YEAR LEVEL:							
CONTACT DETAILS							
PARENT'S NAME:							
PHONE: MOBILE:							
DELIVERY ADDRESS DETAILS							
ATTENTION:							
UNIT/STREET NUMBER: STREET NAME:							
SUBURB: POSTCO	DE:						
OTHER INSTRUCTIONS:							
CREDIT CARD PAYMENT							
Card Number:////							
Expiry Date: /							
Name On Card:							
Card Holders Signature:							
Card Holders Phone Number:							

Updated: 24/10/2025



WELLINGTON POINT STATE HIGH SCHOOL Year 7 Stationery List 2026

STUDENT'S NAME:				
PARENT'S NAME:PH:				
	воу		GIRL	
\$8.00 Delivery Charge				
Please Supply the Complete Pack at a Total Cost -				
Please Supply <u>Only</u> the Items Selected Below				
ІТЕМ	QTY REQ	ORDER	PRICE PER ITEM	TOTAL
GENERAL STATIONERY FOR E	ACH LESS	QTY	INCL GST	
Pencil Case – 2 Zip Giant 264x375mm	1	UN	\$ 6.00	\$ 6.00
Pen – Ballpoint Medium Blue	2		\$ 0.65	\$ 1.30
Pen – Ballpoint Medium Red	2		\$ 0.65	\$ 1.30
Pen – Ballpoint Medium Black	2		\$ 0.65	\$ 1.30
COLOUR PENCILS - COLUMBIA 12s	1		\$ 7.95	\$ 7.95
Glue Stick	1		\$ 7.95	\$ 3.30
Scissors	1		\$ 2.30	\$ 2.30
Pencil – Staedtler Tradition HB	4		\$ 0.95	\$ 3.80
Eraser – Large with Sleeve	1		\$ 1.00	\$ 1.00
Pencil – Sharpener Single Metal	1		\$ 1.00	\$ 1.00
Ruler – 30cm Plastic	1		\$ 0.75	\$ 0.75
Highlighter – Set of 6	1		\$ 8.99	\$ 8.99
USB – 16GB TO BE USED FOR ALL SUBJECTS	1		\$ 10.50	\$ 10.50
		TOTAL		\$ 49.49
SUBJECT SPECIFIC REQUIF	REMENTS			
THE ARTS				
Marker – Fineliner 0.4mm Black	1		\$ 3.40	\$ 3.40
Pencil – Staedtler Tradition 2B	2		\$ 0.95	\$ 1.90
Pencil – Staedtler Tradition 4B	1		\$ 0.95	\$ 0.95
Document Wallet A4 Plastic with button	1		\$ 1.80	\$ 1.80
Exercise Book - A4 96 page	1		\$ 2.00	\$ 2.00
		TOTAL		\$ 10.05
ENGLISH				
Exercise Book - 9x7 48 page	1		\$ 0.85	\$ 0.85
Binder Book – A4 192 page	2		\$ 4.00	\$ 8.00
Display Folder	1		\$ 2.95	\$ 2.95
Document Wallet A4 Plastic with button	1		\$ 1.80	\$ 1.80
		TOTAL		\$ 13.60
HEALTH & PHYSICAL EDUCATION				
Exercise Book – A4 96 page	1		\$ 2.00	\$ 2.00
Document Wallet A4 Plastic with button	1		\$ 1.80	\$ 1.80
Hat, Sunscreen and Water bottle to be s School Hats can be purchased from the				
		TOTAL		\$ 3.80
FOCUSED LITERACY INTERVENTION				
Exercise Book – A4 96 page	3		\$ 2.00	\$ 6.00

Updated: 24/10/2025

		TOTAL			\$	6.00
MATHEMATICS						
Exercise Book – A4 128 page	2		\$	2.40	\$	4.80
Protractor – 180 Degree	1		\$	2.20	\$	2.20
Compass – Staedtler 559	1		\$	7.80	\$	7.80
Graph Pad - A4 30 leaf 2mm 7 Hole	1		\$	4.45	\$	4.45
Calculator CASIO fx-82AU Plus 11	1		\$	48.40	\$	48.40
TOTAL					\$	67.65
SCIENCE						
Exercise Book – A4 96 page	2		\$	2.00	\$	4.00
Document Wallet A4 Plastic with button	1		\$	1.80	\$	1.60
Calculator CASIO fx-82AU Plus 11						
	•	TOTAL			\$	5.60
HUMANITIES						
Exercise Book – A4 96 page	2		\$	2.00	\$	4.00
		TOTAL				4.00
HIGH IMPACT PROGRAM (Previously Welfare)						
Exercise Book – A4 48 page	1	1	\$	1.30	\$	1.30
				TOTAL	\$	1.30
JAPANESE						
Exercise Book – A4 96 page	1		\$	2.00	\$	2.00
Document Wallet A4 Plastic with button	1		\$	1.80	\$	1.60
		TOTAL			\$	3.60
INSTRUMENTAL MUSIC (OPTIONAL PROGRAM)						
"Standard of Excellence" text book (Teacher to advise pare			mence	ement of less	ons)	
Foldable Music Stand (Availab						
	YOUR ORDER	TOTAL			\$	163.79

Please Return to Birkdale News by Monday, 12 January 2026

Please keep a copy for your records.